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Graphing Parabolas 
 

Graph the following parabolas.  For each parabola determine: the vertex, line of symmetry, and x-
intercepts and y-intercept.  Find two additional points to graph a complete parabola. 
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UP
x 5 1

0 5

5,0 1,0f x 5 i
x 2k
2 9

5,051 1,0

IS 5 42 2 1 x 4 5

y 02 4 0 5 0 5

y 5verify 5 1

2 5 2 1
3 3

9
2 9 or a

IEarws
8,52

2 reflectoverlosto 6,7

9 451811s i 81
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g int 0,5
Down

11 2 4 5
0,5

16 5 X 1 5,0 1,0

2YET 51 1 219
4 0 F 1 0

YEE 12 2

Verty 11 5 1 1

y 1 2 5 2 1

y 3 3

y 9
Vertex 2,9

1EE.ie g s
g

1,8 reflect to 3,8
4 2 g 1 2 5 2 1

X2 7 reflect to 61 7 I



Graph 3  
! = 4#! − 8# − 5 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

9 int 0 5

4 2 10 2 5
2 4 2 10x up

2 1 2 5 1 24 5 0 5

2X 5 05,0 25,0
1Y.FI 1 2 5 1 9

ax.to a

I
0.5 X 2.5 1

015,0 25,0

vertex

y 2 1 2 5
2 1 1 2 1 5
3 3
9
1 9

Additional Points

0 51 reflectsto 2 5

2 3 1 2 3 5
7 I
7

3,7 reflectsto 1,7


